BiEE

ST-100NRB,

M16x40 M16x40

ST-100NRBSW-2,
M16x40

ST-100NRBSW-1,

=fiz=70oftt
:|J FIWAFUVT
= ¢ 75 100 T WRRy /S~
e BAFERURSR) - EBEAS

L

wn
1
< (Rby/S—f) e
© HERBREROERANA—ITT,
@D
= [ -
Ol | M| & & A ¥ | T |y
& & B W Hink H OIE BftE 240 EvF- i E pogv) " oo HEEFE FFRfE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
ST-75NRB (H104) ,M12X 35 65
* ST-75SNRBSW-1,M12Xx 35 92
M12 1.75 35 21
* ST-75SNRBSW-2,M12x 35 104
* ST-75NRBSW-3,M12 X 35 96
75 104 26
ST-75NRB (H104) ,M16 X 40 65
* ST-75NRBSW-1,M16 X 40 92
M16 2 40 23
* ST-75SNRBSW-2,M16 X 40 104
* ST-75SNRBSW-3,M16 X 40 96
27 70(71.4)
ST-100NRB (H132) M12x 35 80
* ST-100NRBSW-1,M12x 35 93
M12 1.75 35 21
* ST-100NRBSW-2,M12 X 35 95
* ST-100NRBSW-3,M12X 35 97
100 132 29
ST-100NRB (H132),M16 X 40 80
* ST-100NRBSW-1,M16 X 40 93
M16 2 40 23
* ST-100NRBSW-2,M16 X 40 95
FAFAO
*k ST-100NRBSW-3,M16X40 | # #TA4(BA) 97
ST-75NU (H104) ,M12x 35 65
* ST-75NUSW-1,M12Xx 35 92
M12 1.75 35 21
* ST-75NUSW-2,M12 X 35 104
* ST-75NUSW-3,M12Xx 35 96
75 104 26
ST-75NU (H104) ,M16 X 40 65
* ST-75NUSW-1,M16 X 40 92
M16 2 40 23
* ST-75NUSW-2,M16 X 40 104
* ST-75NUSW-3,M16 X 40 96
25 70(71.4)
ST-100NU (H132) M12x 35 80
* ST-100NUSW-1,M12X 35 93
M12 1.75 35 21
* ST-100NUSW-2,M12X 35 95
* ST-100NUSW-3,M12X 35 97
100 132 29
ST-100NU (H132) , M16 X 40 80
* ST-100NUSW-1,M16 X 40 93
M16 2 40 23
* ST-100NUSW-2,M16 X 40 95
FIF1Or
*ST-100NUSW-3M16X40 | = &Lz~ 97
#[ Aby/N—1t]
EEATE 1—IAZ/¥F(19mm.”21mm)

040

21X232/\F




1
=
=
< - 7
Ol T & | 2| & & |
& ] HinE H | BftE fal EvF- i RrE popv) "o HEEFE FFAfrE
D (mm) W (mm) H(mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kef) ]
ST-75UHF (H104),M12X 35 65
* ST-75UHFSW-1,M12x 35 92
M12 1.75 35 21
* ST-75UHFSW-2,M12x 35 104
* ST-75UHFSW-3,M12x 35 96
75 26 104 26
ST-75UHF (H104) ,M16 X 40 65
* ST-75UHFSW-1,M16 X 40 92
M16 2 40 23
* ST-75UHFSW-2,M16 X 40 104
* ST-75UHFSW-3,M16 X 40 96
70(71.4)
ST-100UHF (H132) M12X 35 80
* ST-100UHFSW-1,M12x 35 93
M12 1.75 35 21
* ST-100UHFSW-2,M12x 35 95
* ST-100UHFSW-3,M12x 35 97
100 28 132 29
ST-100UHF (H132) ,M16 X 40 80
* ST-100UHFSW-1,M16 X 40 93
M16 2 40 23
* ST-100UHFSW-2,M16 X 40 95
AAIFAOr
% ST-100UHFSW-3M16X40 | % #:yL%>(BA) o7
*[ b/ N—1]
BEE

=f1=o0f
— ] SYTLRTUYT
= & 75 100 vvonzrws—

LsH

Qe[| Bt A& (B UA AR EhFERBG
] TXL
z 7% ac
A
R4l
pE| -

SFHT-100NRBDS,M16 X 40

£
SFHT-100SELDS,M16X 40 =Bl =il i"‘é
HEHRRBEOANR AT T, =
ft
- #
7 I
Ol T | M & 8|8l al ¥ | ¥ Y
m & E W HiRE B g AR Bl EvF- L% K& Y] " D HEEFE HAMNE
D (mm) W (mm) H (mm) T L N (mm) M (mm) E (mm) R (mm) [daN (kgf) ]
SFHT-75NRBDS,M16 X 40 75 102 29 71
27 M16 2 40 23 60(61.2)
SFHT-100NRBDS,M16X 40 100 126 31 81
b 912 =
B #ABA)
SFHT-100SELDS,M16X 40 100 28 126 M16 2 40 23 31 81 50(51.0)
HRAIV:PP
B #HI5AM—(BA)

CHRATE  21x23z2/%

041





